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1. T Aot S & ggel K Uai &1 Idemhel 3K? + 5K g1 fFeifaf@a & & sia-ar
el 87

(A) S & UG THh FATR Aol §ard g, e amg 37X 14 gl

(B) S & Ug Teh FATR Al §ard g, Sraehr &g 37X 6 g

(S) S % Y& U Ui AN §aA1d &, ST @d 3gard 10/7 g

(D) S & ug T IUNR Al Sl &, TSraahT A1d 3rqard 11/4 gl

2. Ush GP & YUH 8 Ual T IeTthel $8h JUH 4 Y& & ANThel HT 9T AT
gl e r = 1 @1d U B, A r & fhae wenfad aredfas AT g Hehd §7

A)
B) &
C) d=
D) disT & i

Uch

(
(
(
(

3. A FHIEOT X? - KX + K = 0 & Tsh HoT g ¥ 2V3 38 §, ot K &
A Feafaf@a J§ & sia-ar g2

(A) 3
(B) 6
(C) 9
(D) 12

4. uﬁ:x+§=43ﬂt y+2= 4@ (X +Y) fred s 82
(A) O
(B) 1
(C) 4
(D) 5
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5. gf¢ T AP & 59, 7d 3iX 139 g GP & §, o 39% UYgd U I 3T TQ

HR @ eI & §7?

(A) -3
(B) -2
(C) 2
(D) 3

6. afc p, 1, g AP #§ 3R p, 2, q GP & §, ar A=faf@d Fa=t & & ia-
qr/aleT-8 el &/e?

l. p, 4, q HP & &
Il. (1/p), 1/4, (1/q) AP & g
A fQU 91T e @ JANT A T 3R G|

(a) hael 1

(b) Faer Il

(c) | 3R Il g=F

(d) a3 a8

7.3 x = (1111),, y = (1001), 31X z = (110),, ar x° - y° - Z2° - 3xyz FaH
WS & ?

(a) (1111001),
(b) (1001111),
(c) (1)2
(d) (0)2

1. The sum of the first k terms of a series S is 3k?® + 5k. Which one of
the following is correct?

https://www.pygonline.com



(@) The terms of S form an arithmetic progression with common difference
14.

(b) The terms of S form an arithmetic progression with common difference
6.

(c) The terms of S form a geometric progression with common ratio 10/7.

(d) The terms of S form a geometric progression with common ratio 11/4.

2. The sum of the first 8 terms of a GP is five times the sum of its first 4
terms. If r # 1 is the common ratio, then what is the number of possible

real values of r?
(a) One
(b) Two

(c) Three

(d) More than three

3. If one root of the equation x? - kx + k = 0 exceeds the other by 2v3,
then which one of the following is a value of k? https://www.pygonline.com

(a) 3
(b) 6
(c) 9
(d) 12

4. If x + §=4and y+§= —4 then what is (x + y) equal to?
(@) 0
(b) 1
(c) 4
(d) 5
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5. If 5th, 7th and 13th terms of an AP are in GP, then what is the ratio of
its first term to its common difference?

(@) -3
(b) -2
(c) 2
(d) 3

6. If p, 1, g are in AP and p, 2, q are in GP, then which of the following
statements is/are correct?

l. p, 4, q are in HP.

Il. (1/p), 1/4, (1/q) are in AP.

Select the answer using the code given below.
(@) | only

(b) 1l only

(c) Both | and I

(d) Neither | nor Il

7. If x = (1111),, y =(1001); and z = (110),, then what is x* - y° - Z° -
3xyz equal to?

(a) (1111001),
(b) (1001111),
(€) (1)
(d) (0)2

8. It
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a b c
d e f
g h i
bB+CC-dDgGﬁw‘Hﬂ~TW%?

(@) 0

A=

(b) 1
(c) A
(d) -A

9. ORUI+

k(k+2) 2k+1 1
A= |2k+1 k+2 1
3 3 1

& ¥eH # farafaf@d syar W foar fifgv :
l. A GellcHe &, afg k > 0.

Il. A KOTcA® &, IfE k < 0.

Il A =T &, 3 k = 0.

39T HYUAT H @ fohefer /el TET /87

10. afeg

2 3+ -1
3—1i 0 i—1|=A+ iB
-1 -1-i 1

STel i = V=1, ar A + B fhaed sy 87
(a) -10
(b) -6

https://www.pygonline.com

3IR A, B, C, D, G 31@¥arl a, b, ¢, d, g & %M HgEs &, ol



c) 0
(d) 6

1 cosC cosB
11. I A2+ B>+ C?2=0, d [cosC 1 cosA| T AT T §7?
cosB cosA 1

(a) -1
(b) O
(c) 1
(d) 2

12. If& o TH (unity) &1 HAEATdS TTd]l §, dl AT

x+1 ) w?

0w X+ w? 1 | =0 3 Tk e (root) AT §?
w? 1 X+ w

(@) x=20

(b) x =1

(c) x = w

(d) x = w?

13. (g—j)3 frg ST §7?
(a) -1
(b) 0
(c) 1
(d) 3

14.af 2 x+1=0,a (x—§)2+ (x—§)4+ (x—i)B forae SUeT &7
(a) 81
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(b) 85
(c) 87
(d) 90
a b
d e
g h
b, ¢, d, g respectively, then what is bB + cC - dD - gG equal to?

8. If A= and A, B, C, D, G are the cofactors of the elements a,

C
!
l

a

b) 1

c) A

(a)
(b)
(c)
(d) -A

9. Consider the following statements in respect of the determinant
k(k+2) 2k+1 1

A= |2k+1 k+2 1
3 3 1

I. A is positive if k > O.

Il. A is negative if k < O.

lll. Ais zero if k = 0.

How many of the statements given above are correct?

a) None

b) One

c) Two

(@)
(b)
(c)
(d) All three

2 34+ -1

10. if 13— 0 i—1|=A+iB where i = V-1, then what is A + B
-1 —-1—-i 1

equal to?
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(a) -10
(b) -6
() 0
(d) 6

11. If A> + B2 + C? = 0, then what is the value of the following?

1 cosC cosB

cos C 1 cosd
cosB cosA 1
(@) -

(b) O

(c) 1

(d) 2

12. If w is a non-real cube root of unity, then what is a root of the

x+1 w w?
following equation? | v x4+ w? 1 [=0
w? 1 x+ w
(@) x=20
(b) x =1
(c) x = w
(d) x = w?

13. What is (gi ) equal to?
(@) -1
(b) 0
(c) 1
d) 3
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14.1f X’ - x + 1 = 0, then what is (x — 1)2 + (x—i)4 + (x- 1)8 equal to?
(a) 81
(b) 85
(c) 87

(d) 90

15. 2rsg CAPITAL & 3fr 378RT & 93T o fohdel 7-31a1 0 ereg (31l &
3YEA) FATT T Thd g, difih Tcdoh Asg H T STl Ueh AT 3V ?

(a) 360
(b) 300
(c) 288
(d) 240

16. Ifg z # 0 Us AlFFAS FEar §, A amp (z) + amp (z) fFa®H SRR &2
(@) 0

(b) T2

(c) m

(d) 2m

17. us ageret, foraer 20 fashol €, v vl sqemd g7
(a) 6
(b) 7
(c) 8
(d) 10
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18. 2re¢ DELHI & 38R &l fohdel YR & aredd [ar o1 ohdl &, o 9H
TR AR sgeEr @ fafa 3aiafda (unchanged) @ 2

(a) 6

(b) 9
(c) 12
(d) 24

19. x + y + z = 5 & YellcAs YUlieh gell (positive integer solutions) T H&AT
frceir & ?

(a) 3

(b) 5

(c) 6

(d) 9

20 (35+ 5%) & W #F oRA wel B HEar R § 2
(a) 2

(b) 3

(c) 4

(d) 6

21. I (x + y)" & YAR & gfdue IOleht HT Gl 256 &, ar foe=iafad
gal # A fhdd HgaH gfdue a[ulish 3TUan?

(a) IR
(b) =
(c) arad
(d) =a
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22. G k < (VZ + 1)° < k + 2, ST@T k U UoIqUileh &, al k &1 AT F4T §7?
(a) 11

(b) 13
(c) 15
(d) 17
23. afg
1 2 311
[x11]l4 5 6”1]=[45]F|Tﬁﬁﬁf@ﬁﬁﬁaﬁﬂ-mxa;rwmﬁ%?
7 8 91 lx
(@) -2
(b) -1
(c)O0
(d) 1
y Z X
24. e A= |z «x y] STl X, y, z QUlleh §, Ueh ofifdeh 31Megg g, ar
X y z

x2 4 y2 4 z2 &7 AT FIT g7
(@) 0
(b) 1
(c) 4
(d) 14

15. How many 7-letter words (with or without meaning) can be constructed
using all the letters of the word CAPITAL so that all consonants come
together in each word?

(a) 360
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(b) 300
(c) 288
(d) 240

16. If z = 0 is a complex number, then what is amp (z)+amp (z) equal to?
(@) 0

(b) /2

(c) m

(d) 2n

17. How many sides are there in a polygon which has 20 diagonals?
(a) 6
(b) 7
(c) 8
(d) 10

18. In how many ways can the letters of the word DELHI be arranged
keeping the positions of vowels and consonants unchanged?

(a) 6
(b) 9
(c) 12
(d) 24

19. What is the number of positive integer solutions of x + y + z = 5?
(a) 3
(b) 5
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(c) 6
(d) 9

1 1\ 12
20. What is the number of rational terms in the expansion of (35+ SZ) ?

a
b

2
3
c) 4
6

(@)
(b)
(c)
(d)

21. If the sum of binomial coefficients in the expansion of (x + y)" is 256,
then the greatest binomial coefficient occurs in which one of the following
terms?

(a) Third
(b) Fourth
(c) Fifth

(d) Ninth

22. If k <(v2 + 1)° <k + 2, where k is a natural number, then what is the

value of k?
(a) 11
(b) 13
(c) 15
(d) 17

1 2 3111

23. If [x11] [4 5 6] [1‘ = [45] then which one of the following is a value
7 8 9llx

of x?
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(@) -2

(b) -1

(c) 0

(d) 1
y zZ X

24. if A= |z x Y| where X, y, z are integers, is an orthogonal matrix,
X y z

then what is the value of x* + y? + z?

a0

b) 1

c) 4

d

(
(
(
(d) 14

)
)
)
)

25. Teh GHAUNY 3Py M & Hedl #, eafgd W faur fifaw:
L M7 = [MJ?

1. M| = [MT|

. M| = |M"|

39dFd A ¥ Fhcer / frder e 8872
(a) g o =Ter

(b) T

(c) ar

(d) g8y A

7] in@
26. afE £(6) = [_C‘;isn o e 9] ar {f(m)y? fres ey &7
1 0
@,
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@[5 9
1 2 2

27. 3f¢ A= |2 1 2]ﬁA2-4AWW%?
2 2 1

(@) -3ls

(b) -I3

(c) I3

(d) Sls

STET I3 e 3 &1 dcadAs Mg &l

28. g 5n fOeeT a&I3T A @ r IEI3T & TIAT 1 F&>T, (n + 1) TEBT &
TIAT T GEIAT o N g, dl r Pl AT FAT g7

an

b

(@)
(b) 2n
(c) 3n
(d) 4n

29. 6 ToeeT a&3t & & AUH-Q-31T0h 3 TEI3T & T HI &I AT §7?

Xy z
y z x] STl X, y, z qUlish &, Ueh oifdes 31egg ¢, af A® fras
zZ X

<
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(@) YT 3ATcgg

(b) dcqHS 3HTcYg
(c) A
(d) - A

25. Consider the following in respect of a non-singular matrix M:

LM% = MJ?
1. M| = [M7|
. M| = |M"|

How many of the above are correct?
(a) None
(b) One
(c) Two
(d) All three

9 sing .
26. If £() = [_C‘;isn o e 9] then what is {f(m)}* equal to?

—1 O
@5
1 1
®) |7 1
—1 O
© |5 7
1 0
@ |5 4l
1 2 2
27. If A = [2 1 2] then what is A? - 4A equal to?
2 2 1
(@) -Sls
(b) -3
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(c) I3
(d) Sl3

where |; is the identity matrix of order 3.

28. If the number of selections of r as well as (n + r) things from 5n
different things are equal, then what is the value of r?

(@) n
(b) 2n
(c) 3n
(d) 4n

29. What is the number of selections of at most 3 things from 6 different

things?

(a) 20

(b) 22

(c) 41

(d) 42
X y z

30. If A= |y z Xx| where X, y, z are integers, is an orthogonal matrix,
Z X Yy

then what is A? equal to?

(a) Null matrix
(b) ldentity matrix
(c) A

(d) -A

3Tel grel it (03) gl & fov fArifaf@d W fIar Hifaw
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AT NfST p = sin 35°, g = sin 25° 3iR r = sin(-95°)

31. (p + q + r) THEH T g7
(a) -1

(b) O

(c) 2sin 5°

(d) 2cos5°

32. (pq + gr + rp) ThTd WX g7

33. (PP + @ + 1) TP W & ?
(@) 1/2

(b) 1

(c) 3/2

(d) 2

3T arel & (02) gt & for Peafef@ad ) R fifew
AT oA p = |sina - sin(a - 90°)|

34. p & GIdH AT FAT § ?
(a) O

(b) 1/2

(c) 12
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(d)

35. p & Jf&hde AT F1 82

(a) 1

(b) V2

(c) V3

(d) 2

3T arel il (03) et & forv fAefaf@a w faar fifev

Tsh f3%eT ABC &7 $[a¢ AB = 3 cm, BC = 5 cm 3R CA = 7 cm &l

36. AT Fyal W AR Hifew :

. Ig eyt weh rfRerenioiig Fegst B

II. 38 T39ST & SARIVN T ARThl o =T &
39T HUAT H @ SI-AT / HlT-Q FET 8782

(a) dad |

(b) aer I

(c) | 3R Il g=F

(d) a3 aE I

37. «B T&&E& =X §7
(a) 60°
(b) 105°
(c) 120°
(d) 150°

38.ﬁaisra:ra%-=rqwrw%?
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(@) 15v/3 / 4 g1 cm

(b) 15v3 / 2 a3t cm

(c) 15v3 @3 cm

(d) 30v3 arf cm

Consider the following for the three (03) items that follow:

Let p = sin35°, q = sin 25° and r = sin(-95°).

31. What is (p + q + r) equal to?
a) -1
b) 0
c) 2 sin 5°

2 cos 5°

(
(
(
(d

)
)
)
)

32. What is (pg + gr + rp) equal to?
(a) -3/4

(b) O

(c) 1/4

(d) 3/4

33. What is (p> + g° + r’) equal to?

(a) 1/2

(b) 1

(c) 3/2

(d) 2

Consider the following for the two (02) items that follow:

Let p = |sina - sin(a - 90°)].
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34. What is the minimum value of p?
(@) 0

(b) 1/2

(c) 12

(d) 1

35. What is the maximum value of p?
a) 1

b

PR~

(@)
(b)
(c)
(d)

d

N

Consider the following for the three (03) items that follow:

The sides of a triangle ABC are AB = 3 cm, BC= 5 cm and CA = 7 cm.

36. Consider the following statements:

I. The triangle is obtuse-angled triangle.

II. The sum of acute angles of the triangle is also acute.
Which of the statements given above is/are correct?

(@) I only

(b) II only

(c) Both | and I

(d) Neither | nor Il

37. What is «B equal to?
(a) 60°
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(b) 105°
(c) 120°
(d) 150°

38. What is the area of the triangle?

(a) 15v/3/4 square cm

(b) 15v/3/2 square cm

(c) 153 square cm

(d) 30v3 square cm

3T dTel ar (02) 9=l & fav fArafaf@d o foar fifaw

Teh T & MY (M) & T 8ifdst Te 3@ o 99 aaR & q16 (N) & gl
TRl &, W Rud i faeg3t P, QIR R A @ ST 81 P, Q3R R A M
& Seolded-BI0T AT 30°, 45° AT 60° §| AT Nifalt PQ = a 3R QR =b
gl

39. PN fras R 87
@ (55

40. MN foras seT 872
(a) (3+2x/§)b
(b) (57)b

© (55)b
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(d) (3+\/_)
3TeT dTel T (03) 9=l & fov fArafof@a ) faar fifew :
AT SIfSlT p = tan 2a - tana 3R q = cota - cot2a

41. (p/q) foraeh e 87
a) -tana.tan 2«a
b) -cota.cot 2«

c) tana.tan 2a

(@)
(b)
(c)
(d) cota.cot 2a

42. (p + q) fFE®s W §?
(a) secd a

(b) cosec4 a

(c) 2 secd a

(d) 2cosec4 a

43. tan’a frg% STET 27

a) (pg) / (p + Q)

)
b) (p + 20q)/p
c) p/(p + 2q)
d) p/(2p + q)
3T aTel a1 (02) geanelt & fov frafaf@a w faar fifae

AT NfAT 2sina + cosa = 2, 3@l 0 < a<90°

(
(
(
(

44. tan o [T X §72
(a) 1/2
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(b) 1
(c) 3/4
(d) 2

Consider the following for the two (02) items that follow:

The top (M) of a tower is observed from three points P, Q and R lying in
a horizontal straight line which passes directly along the foot (N) of the
tower. The angles of elevations of M from P, Q and R are 30°, 45° and
60° respectively. Let PQ = a and QR = b.

39. What is PN equal to?
@ (57)a

®) (57)e

© (5°)

(@) (%3°)a

)

+
£ -
Q

40. What is MN equal to?
(a) (3+2\/§)b
(0) (57)p
© (57)b
(@ (25)b

4

Consider the following for the three (03) items that follow:

Let p = tan2a - tana and q = cota - cot2a.

41. What is (p/q) equal to?

(a) -tana.tan 2a
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(b) -cota.cot 2a
(c) tana.tan 2 a

(d) cota.cot 2 «

42. What is (p + q) equal to?
(a) secda

(b) cosec4da

(c) 2secda

(d) 2cosec 4a

43. What is tan? « equal to?

a) (pa) / (p + q)
b) (p + 20q)/p
c) p/(p + 29)
d) p/(2p + q)

Consider the following for the two (02) items that follow :

(
(
(
(

Let 2sina + cosa = 2, where 0 < a < 90°.

44, What is tana equal to?
(@) 1/2

(b) 1

(c) 3/4

(d) 2

45. 2sin2a + cos 20a fraer s &7
(@) 11/10
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(b) 11/5
(c) 12/5
(d) 13 /5
3o arer g (02) gl & fov Aeafaf@d W faar fifaw :

T f33eT ABC #, & ¢t BC 3R CA, 2:1 & 3furd & § 3R 3a7eh faudid
"o N7 3: 1 & 3qard H g

46.ﬁaisrasaﬁvﬁﬁ@rwafm%¥

47. Ffaf@d U W TarR HifFw:

. 3s1eT AU Bl

II. T387eT 1 Toh $faTT, Q@A oS AT 3 TN B
lIl. 87T & o1 A, C 3R BAP # ¢l
39YFT FYAT H § PlT-H/HlA-T TE 8787
(a) hael |

(b) saar 1l 3R I

(c) Faer | 3R I

(d) I, 11 31

48. 50m S I Ueh FRIHAT & 3R (P) & 100 m gIadt M W ST Teh
i W & foh YU & 3Taad fdeg (Q) & Seoidel-hIor 45° §| FOHel
3wdaH fSeq R W &1 3% 3fdRed P, R 3R Q Teh el 3@ & § dUT Jg
I XET PM & &ddd gl ST RMQ fordss STel 87
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(a) tan™ (5)
(b) tan™'(3)
(©) tan”'(3)
(d) tan™ (3)

49. If¢ x2— 4x+1=0 AT Teh Hel k &, Fﬁtan_1k+tan_1%ﬁmagwg?

50. Ife tan_1k+tan_1%=%,?-ﬁ K &7 HAlT T 87
(a) 1

(b) 1/2

(©) 1/3

(d) 1/4

45. What is 2sin2a + cos2a equal to?

a) 11/10

b) 11/5

c) 12/5

(@)
(b)
(c)
(d) 13/5

Consider the following for the two (02) items that follow:

In a triangle ABC, two sides BC and CA are in the ratio 2:1 and their
opposite corresponding angles are in the ratio 3: 1.
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46. One of the angles of the triangle is
(@) 15°
(b) 30°
(c) 45°
(d) 75°

47. Consider the following statements:

I. The triangle is right-angled.

II. One of the sides of the triangle is 3 times the other.
lll. The angles A, C and B of the triangle are in AP.
Which of the statements given above is/are correct?

a) | only
b) Il and Il only

(a)
(b)
(c) I and 1l only
(d) I, Il and IlI

48. A man at M, standing 100 m away from the base (P) of a chimney of
height 50 m, observes the angle of elevation of the highest point (Q) of
the smoke to be 45°. The highest point of the chimney is at R. Further P,
R and Q are in a straight line and the straight line is perpendicular to PM.
What is the angle RMQ equal to? https://www.pyqgonline.com

(a) tan! (%)
(b) tan™! G)
(c) tan™? G)
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49. if k is a root of x? — 4x+ 1 =0, then what is tan"1 k +tan_1% equal to
?

(@) -m/2
(b) 0

(c) m /4
(d) T/ 2

50. If tan"1k +tan_1% = % then what is the value of k?

a) 1

b

—

/2

c) 1/3

(@)
(b)
(c)
(d)

d

51. forg ufaser & 3T W@IW m*>x + ny - 1= 03R n®™x - my + 2 = 0 Th-
iR WX dsad gief?

@ mn-1=20
(b) mmn+1 =20
(cgm+n=20
dm-n= 0

52. If¢ p 3R q,0 3R 1 & €T 3@ YR & adias TEAN § & &g (p,
1), (1 ) @ (0,0) T FASTE ST oot &, @ (p + q) ThEsh T &7

(a)

(b) VZ - 1
(c) 2 -3
(d) 4 - 2V3
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53. T 3T & o A (1, 1), B(Q, 0) 3R C(2,0) & Fegem ¥ wohry
gfasrstes ( angular bisectors) P WX fAea g1 P & fadens &ar g7

(@) (1, v2 - 1)
(b) (1, V3 - 1)
(€) (1, 1/2)
(d) (172, vZ - 1)

54. A AT WW@ES AB & 3ichideg A3, -1) 3R B(1, 1) &1 & «IfSw
WWrEs AB @1 #eafdeq P g1 A ofifsiw Q, WAB&:&H@WT@T
WP & V2 518 &1 gl W EUd & W=q 81 Q & @enfad fdens @=r §72

2,1

N W
N

(
(
(
(

55. ABC Ts waeTg 33T ¥ 3R AD, BC W fifeie g1 afe A & foderia (1,
2) & 3R D & A= (-2, 6) §, A BC & Teaor &1 § ?

(@) 3x + 4y -18 =0
(b)4x + 3y -1 =0
(c)4x - 3y + 26 = 0
(d) 3x -4y + 30 =0

56. 38 d & AT FAT §, @ s 10 cm § 3R 3% srat A F A
& gHT x +y =03k x-y=0¢g?

(@) X* +y* = 1
(b) x* + y? = 25
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(c) x> + y* = 100
(d) x> +y?-2x -2y -23 =0

51. Under what condition will the lines m?x+ny—1=0 and n’x —my +2 =
0 be perpendicular?

@ mn-1=0
(b) mmn+ 1 =20
(cgm+n=20

dm-n= 0

52. If p and g are real nhumbers between 0 and 1 such that the points (p,
1), (1, q) and (0, 0) form an equilateral triangle, then what is (p + q) equal
to?

(@) v2

(b) V2 - 1
(c) 2 -3
d) 4 - 243

53. The vertices of a triangle are A(1, 1), B(0, 0) and C(2, 0). The angular
bisectors of the triangle meet at P. What are the coordinates of P?

(@ (1, v2 - 1)
(b) (1, V3 - 1)
(c) (1, 1/ 2)

(d) (172, V2 - 1)

54. Let A(3, -1) and B(1, 1) be the end points of line segment AB. Let P
be the middle point of the line segment AB. Let Q be the point situated at
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a distance V2 units from P on the perpendicular bisector line of AB. What
are the possible coordinates of Q?

(@ (2, 1)
(b) (3, 1)
(c) 2, 2)
(d) (1, 3)

55. ABC is an equilateral triangle and AD is the altitude on BC. If the
coordinates of A are (1, 2) and that of D are (-2, 6), then what is the
equation of BC?

a) 3x +4y -18 =0
b)4x + 3y -1 =0

(
(b)

(c) 4x - 3y + 26 = 0
(d) 3x - 4y + 30 = 0

56. What is the equation of the circle whose diameter is 10 cm and the
equations of two of its diameters are x + y =0 and x -y = 0?

(@) x* +y* =1

(b) x* + y* = 25

(c) x> + y* = 100

(d) x* +y?*-2x-2y-23=0

57. 90 x° + y? + 2x + 2y + 1 = 0 o 39 Teh g1 3Hiehel § 3R SHRT om0
Adens 3l & AR & Pe@ad 7 d FTar g T TE MY § 2

(@) (-2, 2)
(b) (-2, -2)

© (1+7-1-3)
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(d) 3uded H @ S AL

58. Wacld (parabola) y* = 4x WX T TULRAT x- 38T FI &ellcAs GAT & a1y
45° & HIUT W A g1 TIRGT IR el F Tifaeg Hlf-A1 & ?

(@) (1, 1)
(b) (2, 2v2)
© Gz
(d) (1, 2)

59. 3tfdu@erd (hyperbola) 25x° - 75y = 225 & ar «A1fdAT & o $r gl
fohdsir g7

60. afe v &g (ellipse) W 1S &= (3sina, 5cosa) g, Ar e &
Scchegdl

FT g ?
(a) 4/3
(b) 4/5
(c) 3/4
(d) 1/2

61. Ife 3 IATAT F TH IWT AEATH 3767 T eaTcHAs 3t & Iy o,p 3R y
PIUT FATdT &, ar cos(a + B) cos(a - B) forash SR § ?

(a) cos? y
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(b) -cos? y
(c) sin® y

(d) -sin? y

62. A(1, 2, -1), B(2, 5, -2) 3R C(4, 4, -3) T& 3T & diT NV &1 3mad Fr
TPl FAT g7

(a) 8 T 3H1G
(b) 9 T TS
(c) V66 T FHS
(d) Ve8 o gaTs

63. ABC Ts T3 &, oif B W ##A®I0ia g1 afe Ak, 1, -1), B(2k, 0,2) 3R
C(2 + 2k, k, 1) 381 & M &, o k &1 AT &A1 §7?

(a) -3
(b) -1
(c) 1
(d) 3

64. uﬁww:ﬂ=§=$aﬁp = 2q = 3r, y-378T & UeAcHS 32
Y O 0T §ATr g, a cos20 s sRreX g2

(a) -31/49

(b) -37/49

(c) 31/49

(d) 37/49
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57. A square is inscribed in a circle x> + y?+ 2x + 2y + 1 = 0 and its
sides are parallel to coordinate axes. Which one of the following is a
vertex of the square?

(a) (-2, 2)
(b) (-2, -2)
© (-1+5-1-3)

(d) None of the above

58. A tangent to the parabola y* = 4x is inclined at an angle 45° with the
positive direction of x-axis. What is the point of contact of the tangent and
the parabola?

(a)
(b)
© (%)
(d) (

(1, 1)
(

N
N
S

—
N
N

59. What is the distance between the two foci of the hyperbola 25x* - 75y
= 2257

(@) 2+/3 units
(b) 4+/3 units
(c) V6 units

(d) 26 units

60. If any point on an ellipse is (3sina, 5cosa), then what is the
eccentricity of the ellipse?

(a) 4/3
(b) 4/5
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(c) 3/4
(d) 1/2

61. If a line in 3 dimensions makes angles a, and y with the positive
directions of the coordinate axes, then what is cos(a + B)cos(a - B) equal
to?

(a) cos? y
(b) -cos? y
(c) sin® y

(d) -sin® y

62. A(1,2,-1), B(2, 5, -2) and C(4, 4, -3) are three vertices of a rectangle.
What is the area of the rectangle?

(a) 8 square units
(b) 9 square units
(c) V66 square units

(d) V68 square units

63. ABC is a triangle right-angled at B. If A(k, 1, -1), B(2k, 0, 2) and C(2
+ 2k, k, 1) are the vertices of the triangle, then what is the value of k?

(@) -3
(b) -1
(c) 1

(d) 3

64. If a line le =yq;1=zr;2 where p = 2g = 3r, makes an angle 6 with the

positive direction of y-axis, then what is cos 26 equal to?
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(a) -31/49
(b) -37/49
(c) 31/49
(d) 37/49

65. 38 HHS HT FHIGOT &1 &, St foeg (1, 1, 1) @ gl FoRar & 3R 39
W R & g, s fCp-3rgurd (3,2,1) 82

6

o
b
+
L
+
R
1

3x+2y +2=6

Qu
Il
—
2]
=

[\
)
—
~>
+
~
<8
=
[\
on)
—
~>
+
~
2]
=
[\
~<
—
P~
3
Sl
Il
~>
+
~>
+
&)
¥
QU
S
¥
-~

67. @feer d = (A x b) x ¢& T H, Meafof@a wr=t W far HfFw
1. d gAqeNT § d@ 3R b & Y|

M. dog§ ¢ ||

3UYFT HUAT A F HIT-AT / HleT-8 TET 8272

(a) sa |

(b) aer I

https://www.pygonline.com



(c) | 3R Il gt
(dy sTarl 3R =T&rll

68. it faeg3it AB 3R C & feufa afger woer: a,b 3N e dwR §
3d—4b+¢=0 & AB: BC fFas sRTev 87

(a) 3:1

(b) 1:3

(c) 3:4

(d) 1:4

69. ofieT fS=gail A, B 3R C & feufay @i saver: ¢,b 3R ¢ §, el ¢ = (cos”
0)d + (sin®6)b &1 (@xb)+ (bx &)+ (Exa) fraw =R &2

(@) 0
(b) 2¢
(c) 3¢
(d) aATs @fger

70. AT NTAT G, b, (d x b) AFS Al &l (d.b) FFaF IR § 2
(@) 0

(b) 1/2

(c) 1

(d) 3

65. What is the equation of the plane passing through the point (1, 1, 1)
and perpendicular to the line whose direction ratios are (3, 2, 1)?

(@) x+2y + 32 =6
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(b) 3x + 2y+ 2 = 6
(c)x+y+z=3

(d) 3x + 2y+ z=0

66. A line makes angles a,f and y with the positive directions of the
coordinate axes. If @ = (sin? @)i + (sin? B)j + (sin?y)k and b =i+ +k then
what is d.b bequal to?

a) -2

b) -1

c) 1

(a)
(b)
(c)
(d) 2

—

67. Consider the following statements in respect of a vector d = (d X b) X
c:

l. d is coplanar with @ and b.

Il. d is perpendicular to ¢.

Which of the statements given above is/are correct?

(@) | only

(b) II only

(c) Both | and I

(d) Neither | nor Il

68. The position vectors of three points A, B and C are d,b and ¢
respectively such that 3d@ — 4b + ¢ = 0. What is AB: BC equal to?

(a) 3:1
(b) 1:3
(c) 3:4
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(d) 1:4

69. The position vectors of three points A, B and C are b and ¢
respectively, where ¢ = (cos?0)d + (sin® 8)b. What is (d@ x b) + (b x &) +
(¢ x d) equal to?

(d) Unit vector

70. Let d,b, (@ xb) be unit vectors. What is (d.b) equal to?

a0

c) 1

(a)

(b) 1/2
(c)

(d) 3

3T arel ar (02) e & favr Aeafaf@ad ) faar fifaw

AT oNfST x = sech — cosd 3R y =sec*d — cos* 0

71. (d—y)2 foras s &7
(a) 4%+ 4
(x2+4)

4(y —4)
( ) (x2—-4)
16(y2+4)
() (x2+4)

16(y2—4)
( ) (x2—4)

72. (" )2 G + 4) 2 — 16y| BFEd S §2

y2+4
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(a) 16x

(b) 16y

(c) -16x

(d) -16y

37 arer g (02) gl & fov Aeafaf@d W faar fifaw:

AT NTAT ABC Toh [3efsr 8, ST B W dH«I0T & 3 AB + AC = 3 515 |

73. e ST T STl HAFAH &, A 2A fhash SR 872

74. TS T IHTARIH &Thel FIT &7

(@) V3 / 2 T SIS

(b) V3 @1 FHTS

(c) V6 / 2 T TS

(d) V6 T g

A arer ar (02) Feael & fav eafaf@d ) fTar i :
AT SNST (x + )P = xPy4, S@I P, q YsllcHeh qUITeh &

75. y & x o HYET 3ideholol
(@) Hhael p W AR Xar g
(b) dael q WX TR T &
(c) p 3R q g X R FLar g
(d) p 3R q a= & F@aT &
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76. A p + q = 10, & 2 frwd s §2

(a)*

(b) xy

(C) x10y10

@ ()"

3T arel ar (02) e & fovr Aefaf@a w faar fifaw

Y% rEdideh T&AT X & [0 a y = f(x) & (x, f (X)) W TIR@T Fr Tl 4
¢ 3N g% Hafdeg (origin) & gl ISR B

77. 9% T TGRY FIAT §7

(a) (1, 4) ¥ TSR dlell Teh TIT @M

(b) (-1,4) & IR TN Teh Tl Q@I

(c) U Raerd Torgeshr MY Ferfdeg W 3R A1 (2,0) W E
(d) v Raer T MY Helfdeg o 3R a1 (1,0) W &

Consider the following for the two (02) items that follow:

Let x = secH - cos® and y = sec’d - cos*6.

2
71. What is (Z—i) equal to?
4(y2%+4)
( ) (x2+4)

4(y%-4)
( ) (x2—4)
16(y2+4)
() (x2+ 4)

16(y*=4)
(d) (x2—-4)

2 2
72. What is (;2::)% [(x2 + 4)37321— 16y] equal to?
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(a) 16x
(b) 16y
(c) -16x
(d) -16y
Consider the following for the two (02) items that follow:

Let ABC be a triangle right-angled at B and AB+ AC-3 units.

73. What is 2A equal to if the area of the triangle is maximum?

74. What is the maximum area of the triangle?

(a) V3/2 square unit

(b) V3 square units

(c) V6/2 square units

(d) v6 square units

Consider the following for the two (02) items that follow:

Let (x + y)™*9 = x"y9, where p, q are positive integers.

75. The derivative of y with respect to x
(a) depends on p only

(b) depends on g only

(c) depends on both p and g

(d) is independent of both p and q
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76. If p+q =10, then what is % equal to?

@ ()"

Consider the following for the two (02) items that follow:

The slope of the tangent to the curve y = f(x) at (x, f(x)) is 4 for every
real number x and the curve passes through the origin.

77. What is the nature of the curve?

(a) A straight line passing through (1,4)

(b) A straight line passing through (-1,4)

(c) A parabola with vertex at origin and focus at (2, 0)

(d) A parabola with vertex at origin and focus at (1, 0)

78. ah, x- 38T 3R WM x = 4 GaRT INSCY &7 FH &FThd FAT § ?

AT grer ar (02) gearel & fov fArfaf@d w fdar fifav :
AT AT f(x) = {x3"‘2<1

x?,x* >1

79. lim,_, f(x) fhad KX § ?
(a) 2
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(b) 1
(c) 0
(d) T&AT &7 AT Tar &

80. Arafaf@a yaT W IR fifav ;

l. x = -1 W HoleT Tdd gl

Il. x = 1 9T Bl HIhelT gl

39T HUAT H @ SIA-AT / HlT-Q QT 8782

(a) dad |

(b) Faer Il

(c) | 3R Il g=r

(dy sTar | 3R T & Il

3T aret &y (02) el & fav Aeafaf@d w faar fifaw
AT AT Belel y = (1 - cosx)”’, Sl x # 2nm IR n T Yol g

81. Bl HT GH FIT §7
(a) [0, o]

(b) [0.5, oo]

(c) [1, o]

(d) [, 0.9]

82. [ ydx frEesh S&R 87
(a) - tan(x/2) + ¢

(b)) -cot(x / 2) + c
(c)tan (x / 2) + c

(d) cot (x/2) +c
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S8l ¢ HATRHAA-3R

3T arer &r (02) 9=l & fov Aefaf@d ) foar e
AT SNTSIT ®etel f(x) = sin [x], ST@T [] #AAH Uit Belel & 3R g(x) = [x].

83. lim, Lo{f(x)g(x)} T X & ?
(a) -1

(b) O

(c) 1

(d) T 1 3ifedcT G ¥

78. What is the area bounded by the curve, the x-axis and the line x = 47
a) 8 square units
b) 16 square units

(a)
(b)
(c) 32 square units
(d) 64 square units

Consider the following for the two (02) items that follow:

x3, x? <1
x%, x* =1

Let f(x) = {
79. What is lim,_, f'(x) equal to?
(a) 2
(b) 1
(c) 0

(d) Limit does not exist

80. Consider the following statements:

|. The function is continuous at x = -1.
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ll. The function is differentiable at x = 1.

Which of the statements given above is/are correct?

(@) | only

(b) II only

(c) Both | and I

(d) Neither | nor Il

Consider the following for the two (02) items that follow:

Let the function y = (1-cos x)"', where x # 2nm and n is an integer.

81. What is the range of the function?

82. What is [ ydx equal to?

(@) - tan(x/2) + ¢

(b) -cot(x/2) + ¢

(c) tan(x/2) + ¢

(d) cot(x/2) + ¢

where c is the constant of integration.

Consider the following for the two (02) items that follow :

Let the function f(x) = sin(x), where [.] is the greatest integer function and

g(x) = Ixl,

83. What is lim,_y{f(x)g(x)} equal to?
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(a) -1
(b) 0
(c) 1

(d) Limit does not exist

84. lim, HO% frae SUeT &7

3T arel ar (02) e & fovr Aeafaf@d w faar fifaw
AT NfIT T f(x) = |x - 3.

85. Welel f (X) T Ui FAT § ?
(@) (0, »)

(b) (3, )

(€) (-o0, )

(d) (-o0, ©0)\{3}

86. a f(x) 3R y = 3 GaRT INRTGY &7 F &1 The FAT & ?
(a) 3 T SFTS
(b) 4.5 T HS
(c) 7.5 T 3FIS
(d) 9 T g
31 arer g (02) gl & fov Aeafaf@d W faar fifaw :
AT MfFT £ = {(1, 1), (2, 4), (3, 7), (4, 10)}.
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87. Ifg f(x) = px + q, a (p + q) I AT FAT g ?
(a) -1
(b) 0
(c) 1
(d) 5

88. faFdAfali@d HY«Ar W IR FIfTT:

. f THAT BT B

II. Ife f T HEHIcT TTqUIehl T HHedT g, ol f 3esTEs ol gl
3UAFT HUAT A § HIA-AT / HleA-8 FET 8272

(a) dad |

(b) Faer Il

(c) | 3R Il g=r

(dy sTar | 3R T & Il

3T arel ar (02) e & fovr Aeafaf@ad ) faar fifaw
AT NfAT Helel f(x) = x° - 1.

89. lim, _,{f o f (x)} foresr ST § ?
(a) -1
(b) O
(c) 1
(d) 2

90. Welel f(x) 3R x-378T GaRT YRECY &9 &1 &1F%hdl AT § ?
(a) 1/3 a3 gFTS
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(b) 2/3 Tt =FE
(c) 4/3 T ZHS
(d) 2 @9t 3o

84. What is lim, L (’? equal to?

900
(a) -sin 1
(b) sin 1
(c) 0
(d) Limit does not exist

Consider the following for the two (02) items that follow :

Let the curve f(x) = |x - 3|.

85. What is the domain of the function f(x)?
(a) (0, «)

(b) (3, )

(€) (-o0,00)

(d) (-00,00)\{3}

86. What is the area bounded by the curve f(x) and y = 3?
(a) 3 square units

(b) 4.5 square units

(c) 7.5 square units

(d) 9 square units

Consider the following for the two (02) items that follow:

Let f = {(1, 1), (2, 4), (3, 7), (4, 10}).
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87. If f(x) = px + q, then what is the value of (p + q)?
(a) -1
(b) O
(c) 1
(d) 5

88. Consider the following statements :
|. f is one-one function.
[l. f is onto function if the codomain is the set of natural numbers.

Which of the statements given above is are correct ?

(@) I only

(b) Il only

(c) Both | and 1
(d) Neither | nor Il

Consider the following for the two (02) items that follow :
Let the function f(x) = x? - 1.

89. What is lim, _{f o f(x)} equal to?

(a) -1

(b) O

(c) 1

(d) 2

90. What is the area bounded by the function f(x) and the x-axis?
(a) 1/3 square unit
(b) 2/3 square unit

(c) 4/3 square units
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(d) 2 square units

3T arel &r (02) 9=l & fov Aefai@d ) foar i

AT SNfAT y = sin~! (x—ﬁ).

27

91. y fFaes sIaX 87

©) =
@ &=

3T drel & (02) el & fav fAeAfaigd W faar Hifav

AT NAT Feled f(x) = x2 4 9.

93. lim, QO% forder aTeX &7
(a) 2/3

(b) 1

(c) 4/3

(d) 2
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94. fAFATAT@T Y= X faarR RIfFT

. f(x) T THATH Bl g

1. f(x) T TAHT IH™AHdH AT x = 0 T gl
ST AT Y FhTE BT T B

(a) Fae |

(b) Faer Il

(c) | 3R Il g=r

(dy sTar | 3R T & Il

3Tl drel & (02) 9R&ARIT & fav fAFAfaigd W R Hifav

x 3R y & I GeAlcAd arEdide Al & [T Held f(x),f(i) = % N HJSC
T g AR f(2) = 3.

95. f(16) fras & & ?
(a) 18
(b) 27
(c) 54
(d) 81

96. f(1) f(4) fras =X § ?

(a) 4

(b) 8

(c) 9

(d) 18

3T arel ar (02) el & for Aefaf@a w faar fifav

x 3R y & T3 areafas A= & O v woeT f 30 UHR & & fixy) = f (x +
y) 3R (5) = 10.
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97. f(0) fFah TR &7
(@ 0

(b) 1

(c) 5

(d) 10

Consider the following for the two (02) items that follow :

= sin-1 _ﬁ)
Lety = sin (x )

91. What is y equal to?
(a) sin” X
o1 f
(b) sin (3)
(c) 3sin™' x

(d) 3sin-1(§)

92. What is Z—z equal to?

@ 5=

OF

Consider the following for the two (02) items that follow:

Let the function f(x) = x* + 9.

93. What is lim,_, 73 equal to?
flx)+7-4

(a) 2/3
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(b) 1
(c) 4/3
(d) 2

94. Consider the following statements:
I. f(x) is an increasing function.
II. f(x) has local maximum at x = 0.

Which of the statements given above is/are correct?

(@) I only

(b) II only

(c) Both | and 1
(d) Neither | nor Il

Consider the following for the two (02) items that follow :

The function f(x) satisfies f(g) = % for all positive real values of x and v,

and f(2) = 3. https://www.pyqonline.com

95. What is f(16) equal to?
(a) 18
(b) 27
(c) 54
(d) 81

96. What is f(1) f(4) equal to?
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(d) 18
Consider the following for the two (02) items that follow :

A function f is such that f(xy) = f(x + y) for all real values of x and v,
and f(5) = 10.

97. What is f(0) equal to?
(@ 0

(b) 1

(c) 5

(d) 10

98. f(20) + f(-20) fFrEs RIS §?

(a) 0

(b) 10

(c) 20

(d) 40

3T arel ar (02) e & favr Aeafaf@ad w faar fifav
A AAT f(x) = [x*], @I [] AGAH Yoiieh Belel g

99. [} f(x)dx e sRIR & 72

100. [ f(0)dx Bra® aueR §2
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(@) 6 —V3—2v2

(b) 6 — V3+ V2

(c) 6 — V3 + 2V2

(d) 6+ V3 - 2v2

3 Tl IR (04) 9=t & for Feafaiaa w faar fifaw

Th HeT & OEl T a5 (height) $T SRESRAT §ed AArd f&ar 14T §

>a1s (cm #H) S Fr T
160-162 12
162-164 15
164-166 24
166-168 13

101. Q& ot HT FHel TE&AT el §, STt 3415 165 cm & FA AT 38H
T 872

(a) 15
(b) 39
(c) 51
(d) 39T F & @5 Tl

102. & &I ACIHI (median) FATS FIT § ?
a) 162.41 cm

b

)
) 163.41 cm
)
)

c) 164.41 cm

(
(
(
(

d) 165.41 cm

103. & H FaH 3f¥e TR 9= S arelr 3915 §
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(@) 163.5 cm
(b) 163.9cm
(c) 164.5cm
(d) 164.9cm

98. What is f(20) + f(-20) equal to?
a

b) 1

(@) 0
(b) 10
(c) 20
(d) 40
Consider the following for the two (02) items that follow:

Let f(x) = [x?], where [] is the greatest integer function.

99. What is fgf(x) dx equal to?

100. What is fjif(x)dx equal to?

(@) 6 — V3—2v2

(b) 6 — V3+ V2

() 6 — V3 + 2V2

(d) 6+ V3 - 2v2

Consider the following for the four (04) items that follow :

The frequency distribution of height of students of a class is given below:
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Height (in cm) Number of Students
160-162 12
162-164 15
164-166 24
166-168 13

101. What is the total number of students whose height is less than or
equal to 165 cm?

(a) 1
(b) 3
(c) 5
(d) None of the above

102. What is the median height of the class?
(a) 162.41 cm

(b) 163.41 cm

(c) 164.41 cm

(d) 165.41 cm

103. The height which occurs most frequently in the class is

a) 163.5 cm

b) 163.9 cm

(@)
(b)
(c) 164.5 cm
(d)

d) 164.9 cm

104. f4U 30 IRFARAT deaT T FalTteh SUPeFcd HTeldl FEaor §
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(a) &8 3G (bar chart )

(b) ufaerd &3 31N (percentage bar chart)

(c) 3madta= (histogram)

(d) g 3@ (pie chart )

3o arer g (02) gl & fov Aeafaf@d W faar fifaw :

50. FSuThfcatiT el (tropical tubers) &7 &as X(cm &) 3R Foier Y(gm #)
% AT U&UT HI ATh 3R 37 aT FI AT 3T YhR f6amr I—Ar § ; =X =
200, 1Y = 250, =X? = 900 3iX £Y? = 1400

105. TAfai@d # ¥ ia-a1 #@ér g ?
a (X) > g&zor (Y)
b (X) < g&zor (Y)
c (X) = g&zor (Y)

(
(
(
(d) 9ed Ser ¥ AU A& fhar S gehar

) g
) g
) g
)

106. FATaT@T FYaAT H & Sld-A1 Tl & ?

(a) X T faeROT q[Unish, Y & faeRoT q[uiish & q&qd: (strictly) 3o+ &
(b) X @r faeRoT a[ulieh, Y & faeRoT a[ulish & a&dd: ( strictly ) & g
(c) X @ faeror a[uries, Y & faeror aqurie & e B

(d) FeT 3T | fa=RoT Junieh fAUIR et foham S @ |

3T arel & (02) wearRt & for Peafef@a ) R fifew

AT ST 9Tl n = 6 3R p = k & TY X &fdue dco HT HJAI0T Hla dTell
Ueh ATeieos oX gl 9% AfaRed, OP(X = 4) =P(X =2 ) g |

107. k T HT FIT §7

(@) 1/2
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(b) 1/3
(c) 1/4
(d) 1/5

108. P(X = 3) &T A1 T §7?

(a) 135/1024

(b) 5/128

(c) 45/1024

(d) 70/1024

3 arer & (02) g2=rel & fov fefaf@a ) foar fifaw :

7 Gooldll 3 4 ARG & U THg A § 6 Te&dl i Teh HATT & T5eT
foram aram &

109. 9 afAfa & dzad: (exactly) 3 Tooleil o A gled T TTTRAdT T 87
(a) 10/33

(b) 30/77

(c) 100/231

(d) 5/11

110. 39 TfAfT A FA-T-Fd 2 ARG & ATfAST el T YT AT & ?
(a) 41/66
(b) 47/66
(c) 49/66
(d) 53/66
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104. The most appropriate graphical representation of the given frequency
distribution is

(a) bar chart

(b) percentage bar chart

(c) histogram

(d) pie chart

Consider the following for the two (02) items that follow :

The sum and the sum of squares of the observations corresponding to
length X (in cm) and weight Y (in gm) of 50 tropical tubers are given as
X = 200, £Y = 250, £X* = 900 and 3Y* = 1400.

105. Which one of the following is correct?
(a) Variance (X) > Variance (Y)
(b) Variance (X) < Variance (Y)
(c) Variance (X) = Variance (Y)

(d) Cannot be determined from the given data

106. Which one of the following statements is correct?

(a) Coefficient of variation of X is strictly more than coefficient of variation
of Y.

(b) Coefficient of variation of X is strictly less than coefficient of variation of
Y.

(c) Coefficient of variation of X is same as coefficient of variation of Y.
(d) Coefficient of variation cannot be determined from the given data.
Consider the following for the two (02) items that follow :

Let X be a random variable following binomial distribution with parameters
n =6 and p = k. Further, 9P(X = 4) = P(X = 2).
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107. What is the value of k?
(@) 1/2
(b) 1/3
(c) 1/4
(d) 1/5

108. What is the value of P(X = 3)?
a) 135/1024
b) 5/128

c) 45/1024

(@)
(b)
(c)
(d) 70/1024

Consider the following for the two (02) items that follow :

A committee of 6 members is formed from a group of 7 gentlemen and 4
ladies. https://www.pygonline.com

109. What is the probability that committee includes exactly 3 gentlemen?
(a) 10/33

(b) 30/77

(c) 100/231

(d) 5/11

110. What is the probability that the committee includes at least 2 ladies?
(a) 41/66
(b) 47/66
(c) 49/66
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(d) 53/66
3T arer &r (02) 9=l & fov Aefaf@ad ) foar i

A, B 3R C & Yauish S & 9riR¥share sa: 3/10, 1/2 3R 4/5 §1 afe A, B
dur C etk saf, dl iTRelrs (S1e7d) AISTlr & o] fhU S & aiR-ehare
$HLT: 4/9, 2/9 TAT 1/3 Tl

111, 3T (S1eT8) ISl & o] 6T STl 1 GIidehar &ar § ?
a) 17/45
b) 19/45

c) 23/45

(a)
(b)
(c)
(d) 26/45

112, I 3Terelmet (d1ed) Aretall e T el §, ar a1 Wi¥shdr § o @gerd
fohar T geye B a1 ?

(a) 5/23
(b) 6/23
(c) 7/23
(d) 8/23

113. 100 W&UI FT AR AET 50 gl IfG Icded UeTor & § 5 ey fgar sw
3R T 20 @ fSorfora & T ST, ar «1ar GATA] AE &7 e ?

(a) 2.25

(b) 3.5
(c) 4.25
(d) 5.5
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114. 100 J&T0N T AAS Facet 10 &1 I A+ Y&101 H 5 Sz f&7r aw
IR Y 20 O fQanfaa = fear ae, ar a3r A [9gds a1 gem ?

(a) 0.25

(b) 0.5
(c) 0.75
(d) 1.00

115. I P(A) = 1/3, P(B) = 1/2 3R P(AnB)= 1/4, a P(B|A®) &T AT T
g7

116. afe P(A) = 1/3, P(B) =1/2 3R P(AnB) = 1/4, ar P(A° n B®) &r &l
FITE ?

(a) 1/4
(b) 5/12
(c) 7/12
(d) 11/12

117. IfE &Y 3TTAAT UTET I 3STT STaT &, ar FI7 Wiidehdr & o arah &
thefehl X 37Tl dlell HEATHT T Aathel 7 @ a&Jd: (strictly) i & ?

(a) 1/3
(b) 5/12
(c) 7/12
(d) 3/4
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118. & afFd anr fordl a8 WX fAemar o & wilkeswar 1/5 g1 If¢ a8
gfFd 7 IR BRR Ll g, ar T Ti¥edr § & a8 3799 I8 W HH-9-55
gl IR AT e ?

@1-@ @
e 1-() @
©1-(H )
@1-E

119. AT NfIT X gfdue e HT JE0T Hia dlell Uk JEfeod W §, [SaH
AT 3R T/R0T kA 200 3R 160 &1 98T hr FE&IAT (n) T Al FIT g2

120. 82, 92, 10%, ..., 152 & GHGR AT FAT 72

a) 133.5

b) 135.5

c) 137.5

d

(
(
(
(d) 139.5

)
)
)
)
Consider the following for the two (02) items that follow :

The probabilities that A, B and C become managers are 3/10, 1/2 and 4/5
respectively. The probabilities that bonus scheme will be introduced if A, B
and C become managers are 4/9, 2/9 and 1/3 respectively.
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111. What is the probability that the bonus scheme will be introduced?
(a) 17/45
(b) 19/45
(c) 23/45
(d) 26/45

112. If the bonus scheme has been introduced, then what is the probability

that the manager appointed was B?
a) 5/23
b) 6/23

c) 7/123

(a)
(b)
(c)
(d) 8/23

113. The arithmetic mean of 100 observations is 50. If 5 is subtracted from
each observation and then divided by 20, then what is the new arithmetic

mean?
(a) 2.25
(b) 3.5
(c) 4.25
(d) 5.5

114. The standard deviation of 100 observations is 10. If 5 is added to
each observation and then divided by 20, then what will be the new
standard deviation?

(a) 0.25
(b) 0.5
(c) 0.75
(d) 1.00
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115. If P(A) = 1/3, P(B) = 1/2 and P(A n B)= 1/4, then what is the value
of P(B | A%?

(a) 1/8
(b) 3/8
(c) 5/8
(d) 7/8

116. If P(A) = 1/3, P(B) = 1/2 and P(A nB) = 1/4, then what is the value
of P(A° n A%)?

117. If two fair dice are tossed, then what is the probability that the sum
of the numbers on the faces of the dice is strictly greater than 77

(a) 1/3
(b) 5/12
(c) 7/12
(d) 3/4

118. The probability of a man hitting a target is 1/5. If the man fires 7
times, then what is the probability that he hits the target at least twice?

@ 1-() ()
® 1-()()
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©1-() Q)
@ 1- ()@

119. Let X be a random variable following binomial distribution whose
mean and variance are 200 and 160 respectively. What is the value of the
number of trials (n)?

120. What is the arithmetic mean of 82, 92, 10%,..., 152?
(a) 1335
(b) 135.5
(c) 137.5
(d) 139.5
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